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1. Introduction
This document considers some of the design requirements for operation in the 6425-7125MHz range, in line with the RCC recommendations in [1].
2. Channel and sync raster options
Frequency plan
· 35 reference frequency blocks of 20 MHz each
· The bandwidth of a frequency block could be increased in relation to the reference block by multiples of 10 MHz
· The central frequency of a frequency block can be shifted in relation to the central frequency of a reference block by multiples of 5 MHz
· Minimum channel bandwidth of 20MHz, as agreed at R4#101bis-e as 20MHz

Below, we indicate the potential channel and sync raster if we consider the above parameters as the minimum for the band.

Channel raster minimum requirements from RCC
· Channel raster: 5MHz is required (closest is: 4995kHz for 15kHz SCS, 4980kHz for 30kHz SCS)
· However it needs to be considered as to whether more flexibility is required.

Sync raster minimum requirements from RCC
· GSCN raster based on 5MHz channel raster: 
· SCS = 30kHz or 15kHz
· Spectrum utilization: 51 RB (30kHz), 106 RB (15kHz)
· SSB = 20 RBs
· CORESET#0 of 48 RBs with offset values defined in TS38.213 for 10MHz bandwidth (4320kHz from edge)
· GSCN spacing: 7.5MHz (30kHz SCS) ideal
· As multiples of current 1.44MHz raster => 7.2MHz (30kHz SCS).

Reduction in cell search effort: 1 – (97/486 GSCNs) = 0.8 => ~80% reduction compared to 1.44MHz sync raster with step size of 1.

[image: ]
Other considerations for sync raster
If more flexibility in the channel raster is required, this may lead to a more granular sync raster. Also if in future more flexibility was required in other regions, this may lead to more flexibility being needed too.
3. Conclusion
Proposal: Consider the sync and channel raster aspects in this document for further discussion.
4. References
[1] LS from RCC on 6GHz band
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